

۱) $m = \frac{54}{2m} \Rightarrow \frac{-2-2}{2m} \Rightarrow \frac{4}{m} \Rightarrow m = 2$ $z = m(b + \frac{1}{m}) \Rightarrow z = 2(2 + \frac{1}{2}) = 5$ $z = 5$	۱) $z = m - 1 \Rightarrow z = 2 - 1 = 1$ $z = m - 1 \Rightarrow z = 2 - 1 = 1$ $z = 1$	۱
۲) $z = m + 1 \Rightarrow z = 2 + 1 = 3$ $m' = \frac{1}{m} \Rightarrow \frac{1}{2} \Rightarrow m = 2$ $z = m + 1 = 3$	۲) $m \tan \alpha \Rightarrow m \tan \frac{\pi}{4} = m$ $z = m + 1 \Rightarrow z = 2 + 1 = 3$ $z = 3$	۱
۳) $\sqrt{5m^2 + 4z^2} \Rightarrow \sqrt{(1-2)^2 + (3-1)^2}$ $\sqrt{4 + 4} = \sqrt{8} = 2\sqrt{2}$	۳) $\frac{ a + b + c }{\sqrt{a^2 + b^2}} \Rightarrow \frac{ 1 + 2 + 3 }{\sqrt{1^2 + 2^2}} = \frac{6}{\sqrt{5}} = \frac{6\sqrt{5}}{5}$	۲
۴) $m + 3 \Rightarrow z = 6 \Rightarrow m + 3 = 6 \Rightarrow m = 3$ $z = 6$	۴) $\frac{ c - c' }{\sqrt{a^2 + b^2}} = \frac{ c' - c'' }{\sqrt{a^2 + b^2}}$ $\frac{ 12 - c' }{\sqrt{4 + 9}} = \frac{ c' - 1 }{\sqrt{4 + 9}}$ $12 - c' = c' - 1 \Rightarrow 12 - c' = c' - 1 \Rightarrow 13 = 2c' \Rightarrow c' = 6.5$	۳
۵) $\frac{ c - c' }{\sqrt{a^2 + b^2}} = \frac{ c' - c'' }{\sqrt{a^2 + b^2}} \Rightarrow \frac{ 12 - c' }{\sqrt{4 + 9}} = \frac{ c' - 1 }{\sqrt{4 + 9}}$ $12 - c' = c' - 1 \Rightarrow 12 - c' = c' - 1 \Rightarrow 13 = 2c' \Rightarrow c' = 6.5$	۵) $\frac{ c - c' }{\sqrt{a^2 + b^2}} = \frac{ c' - c'' }{\sqrt{a^2 + b^2}} \Rightarrow \frac{ 12 - c' }{\sqrt{4 + 9}} = \frac{ c' - 1 }{\sqrt{4 + 9}}$ $12 - c' = c' - 1 \Rightarrow 12 - c' = c' - 1 \Rightarrow 13 = 2c' \Rightarrow c' = 6.5$	۴
۶) $z = m + 1 \Rightarrow m = 2$ $z = 3$	۶) $\tan \alpha \Rightarrow \left \frac{m - m'}{1 + m m'} \right \Rightarrow \left \frac{2 - 3}{1 + 2 \cdot 3} \right = \left \frac{-1}{7} \right = \frac{1}{7}$	۵

$$a) \sqrt{\Delta n^2 + \Delta \varepsilon^2} = \sqrt{(1 - 0)^2 + (-1 - 1)^2} = \sqrt{1 + 4} = \sqrt{5} = 2.236$$

$$v) \alpha_m = \frac{m_i + m_r}{r} \rightarrow \frac{m_r - 0}{r} = -1 \quad \epsilon_m = \frac{\epsilon_i + \epsilon_r}{r} = \frac{-m_r r}{r} = -1$$

الف) $\mu_G = \frac{\mu_1 + \mu_2 + \mu_3}{n} = \frac{10 + 11 + 9}{3} = 10$

$$Z_G = \frac{1 + Z_r + \frac{Z}{s}}{s} \Rightarrow \frac{1 + \frac{1}{s} - \frac{1}{s}}{s} = \frac{1}{s} \quad G = \frac{1}{s}$$

$$7. \quad \frac{1}{2} \begin{vmatrix} 2 & 1 & 1 \\ -2 & 2 & 1 \\ -2 & -1 & 1 \end{vmatrix} = \frac{1}{2} (9 - 10 + 20 + 20 + 2) = \frac{31}{2}$$

$$\frac{p_{m+1}}{p_m - p} = \frac{p_m - 1}{p_m - p} \quad \text{و } \frac{p_{m+1}}{p_m - p} = \frac{p_m - 1}{p_m - p}$$

$$2) \quad \underline{z} = \frac{-r_m + 1}{-r_m - r} \Rightarrow \underline{z} = \frac{-(r_m - 1)}{-(r_m + r)}$$

$$\underline{z} = \frac{(r_m - 1)}{(r_m + r)}$$

$$2) u = \frac{v_2 + 1}{v_2 - 1} \Rightarrow u = \frac{v_2 - 1}{-v_2 - 1} \Rightarrow g = \frac{-v_2 + 1}{-v_2 - 1}$$

$$2) \frac{v_2 + 1}{v_2 - 1}$$

$$\begin{aligned} 2) -n &= \frac{-1 \pm 1}{-1 \pm n} \Rightarrow n = \frac{-1 - 1}{-1 \pm n} \\ 3) -\frac{-1 \pm 1}{-1 \pm n} &\Rightarrow 3 = \frac{-1 - 1}{-1 \pm n} \end{aligned}$$

$$Q1) \quad n'_{500-P} \quad \varepsilon'_{500} \frac{n'_{500} + 1}{n'_{500}} \rightarrow 2 + n'_{500} = \frac{n'_{500} + 1}{(n'_{500}) + n'_{500}}$$

$$\{ + r = \frac{r_{n-r}}{n+1} \Rightarrow \{ = \frac{r_{n-r} - r_{n-r}}{n+1} \Rightarrow \{ = \frac{-r}{n+1}$$

$$\begin{aligned} \text{c.) } n' &= n - r \\ \frac{1}{n'} &= \frac{1}{n-r} \end{aligned} \quad \rightarrow \quad \frac{1}{n-r} = \frac{r(n-r)+1}{(n-r)-r} \quad \rightarrow \quad \frac{1}{n-r} = \frac{r(n-r)+1}{n-2r}$$

$$Z = \frac{r_N - 0}{n - 4} + r \rightarrow Z = \frac{r_N - 0 + r_N - (r_N)}{n - 4} \quad Z = \frac{r_N - 1V}{n - 4}$$

$$\text{a) } \begin{cases} r_m + r_z = r \\ r - 0z = 1 \end{cases} \quad \begin{matrix} r_m + r_z = r \\ -r_m + 10z = -r \end{matrix} \quad \begin{matrix} u = 0(-\frac{1}{19}) = 1 \rightarrow u + \frac{0}{19} = 1 \rightarrow u = 1 - \frac{0}{19} = 1 \end{matrix}$$

$$\therefore x = - \frac{\begin{vmatrix} b & c \\ b' & c' \end{vmatrix}}{\begin{vmatrix} a & b \\ a' & b' \end{vmatrix}} \quad \text{or} \quad x = - \frac{\begin{vmatrix} r & p \\ 0 & 1 \end{vmatrix}}{\begin{vmatrix} 1 & r \\ 1 & -d \end{vmatrix}} = - \frac{r \cdot 1 - 0}{1 - d - r} = - \frac{r}{1 - d - r} = \frac{r}{1 - d - r}$$

$$\lambda = \frac{\begin{vmatrix} \lambda & 1 \\ 1 & 1 \end{vmatrix}}{\begin{vmatrix} \lambda & 1 \\ 1 & -1 \end{vmatrix}} = \frac{\lambda - 1}{-1 - \lambda} = \frac{1}{-19} = \left(-\frac{1}{19} \right)$$